20204104188

%R 5R C 2 4R

5R Cc 2m#A 1400m 45—k - & r & 25, 7. 4. 2.5, 1.55MA ” }
S5Lwy K —pn * £ R 1218 BSFISEBIES 534 318 544 59 444 42 355 40
YIILYER i B4 L BF 1:21.4 L—2R 5y F{fE : MHM 108 MMM 100 SHM 93 MMS 82 Grant ’
e | PEEY |(EESES 0 3% E A EHEEI }E%& BigE GE, T, B) B HTE=L—R& L—T4v7 95R 3IE= %HE B - BE - AS AN
B  F | MEAMMZT[B £ro123%] 8| F 1400m AF - 2, 3. 4AEBIEN S{TE =i - 0—X - BIERKE 444 E£AY3
2@ | B & |EnEE/Fe|f  4muT | g ¥ 1000m —7\ﬁTI3F RS - $%3F (R MFH, S)EL‘) RiEY 3 Foh REARE 25-p~4f - 3 ~4F - f£3F(5~1) +Y 3 FIESL
& £ | BOR) WIE | 2 B | F1400B% (B i (B e | L—REUSFHAL - HBEOELYSFHAL DBEHRT HTB=1EERE2EE GB%) 1. 2. SHBOWE
HE/BE BAoX | BERM | o 11ARM| # BEFR| #2170 HiE WA 3R 4ERT SERT
F4—JIU5oT 6 [ 13 T : .. |BA 1004 | F@EI1.0.1.18]20.10.12 13 & ﬁm 20.10.05 11 3& &&m | 20.00.27 156 ¥ &&m |20.00.12 16 & &M |20.00.06 12 & MM
78— R RO B 438-457 | 40004 | F 0002 | AZEHLFE c2 2 |C2HHM 2 | C2h#l 2 | C2AH 2
- 54.0 .205| ff 54-54 | A4 00014 | F=1.004 |5 05 8% 5A jm 7 9EE 5% 6A 4 TEIEIN BM| 1 SEIEAN 4 |4 75 6% 3A
11 AT E BE | #HEE B 1288@) | 4 4.1.2.17 | FK0.0.1.3 | 452 -1 RO 54 @@ | 453 -1 RO 54 @@ | 454 +4 /O 54 DD| 450 +1 RO 54  DD| 449 -14 /O 54 @B
(=k>EQYL+—) EF 246 KR 128600 | T4 0.0.0.6 | F£0.0.0.0 | 1000m 4 B 1:01:7 36.0 | 1000m 4 B 1:01:5 37.4 | 1400m 4 # 1:28:8 38.9 | 1200m & B 1:15:8 38.4 [ 1200m & R 1:16:6 40.1
ARG [%] | 41,241 | 221,011 | 24 41.23 | 62@-0@- - | MMM 36.4 255 (1) | HHH 35.6 442 (9) | SSM 37.1-37.9 533 (5) | HSM 37.4-38.4 534 (3) | HSM 36.3-38.4 522 (6)
ARBET 1.0.0.4 ;;_zsfzguso £3200010 | #E 1004 hanriv(1.3) Sk | 0-§"7(2.5) Sk | oot h(1.0) F2y (-0.2) HEE | 5 (1.9) 2%
N—EoSxv— T3 |17 3 A 0117 | FMO0.1.1.6 |20.10.05 12 & &M | 20.09.21 13 ¥ ﬁrﬁ] 20.09.07 12 mz] 20.08_17 16 B®fE | 20.08.03 16 BT
FLLFULTY [pdE .%448—448 JA0000 |F 0003 |C2=4 2 | cC2mil C2=#f IASILK 3 | FAPR 38
t 54.0 .149| fr 54-54 | &40006 | F=0001 |6 83 7& TA 4 | 3 O 9% 5A xﬂ 8 1188 8% 6A ﬂ 9 1158 5% 9A 10 1288 3&I0A
2 AN PRIV SREGA BE 1283Q| £F0.1.1.7 | F750.0.0.3 | 444 +6 HAWK 54 @D | 438 -1 fgxXig 54 @@ 439 +2 Mtk 54 @@ | 437 -5 IXIE 54 D@ | 442 +5 [XXIE 54 DDE®
(RRS %L 4 —2) EF 269 B 1283@ | A 0.0.0.3 | F£0.0.0.0 | 1400m & B 1:29:1 39.4 | 1400m & B 1:29:6 40.3 | 1400m & B 1:32:4 41.4 [ 1700m = % 1:49:3 37.6 | 1700m = B 1:48:5 37.2
AR 9 599-97-h  [%] [ 0.1.1.16 | £ 0.1.1.5 | 24 01.1.13 | -©®-®-®- - [ MMM 35.7-38.6 233 (6) | SHM 37.1-38.8 532 (6) | MSS 36.6-39.5 232 (9) | SSH 36.4 312 (8) | SSH 35.8 232 (10)
EEER 0.0.1.4 | #05E120i80 | £20.00.3 | 1i@ 0117 |3 1h9704va(2.4) Sk | thon v4 1(1.6) %%k | E 14707407 (3.5) HKZES | 7403751+ (2.6) SerE | 9149 79-(2.4) KEE
EEPELT 4418 A 40022 | FPH0.0.29 |20.10.11 15 5® @%@ |20.09.27 15 F @@ |20.09.21 15 ¥ @M@ |20.09.05 11 F ﬁlﬁ 20.03.21 10 ¥ 7k.R
Aq3 MR A EAK JA0.0.1.9 | F 0000 |C2mmif 2 | C2HH 2 |C2FHM c2 | cC2miA C fH
~3 < |56.0 .198 A5001.9 | F=0015 |3 958 9% 5A k4| 3 THE2BO6A W[4 05E 5& OA 8 1088 6% TA 9 1IEENE 4A xn
3 KNS EIZPR2Z 8% BE | =5& B 1286@) [ Z£470.0.2.10 | F7K0.0.0.0 | 447 +3 EAM 56  ©@| 444 -1 MXE 56 @@ | 445 0 P 56 @@ | 445 0 EAH 56 445 +11 BIKIH 52 @®O®
(A RSNHR) EF 77| RER 1282@) | A 0.0.0.6 | F£0.0.0.1 | 1400m & B 1:29:1 37.9 | 1400m 4 #§ 1:28:6 38.2 | 1400m & B 1:29:2 39.1 [ 1400m & B 1:31:0 40.7 | 1400m % B 1:35:5 43.0
AR [%]]0032 | %0037 |2400319 |6-0@-®--|SSM 37.9-38.1 344 (2) [ SSM 37.1-37.9 453 (4) | MW 36.6-38.5 253 (3) | SWM 36.8-38.7 232 (8) [ SSS 38.7-41.0 332 (8)
(#7717 0.0.1.1 | 05050580 | £ 0.0.0.3 | 588 0010 |3 yI-(0.3) k5% | n9ut 1 (0.8) birin N BT YA-(1.5) sEE | 917 a5vAv @ 1) #kSEsE | nvstv(3.3) k58
RUNYEUATT A6 B ... |®F0000 |FM0000 200930 1] * FIA |20.09.10 11 & 8] |20.08.27 6_ F F1Al |20.08.06 10 * 8] [19.07.27 47 ¥ 2/hAT
SUBAL VLA EBR B 416-416 | U4 0.1.00 | F 0000 | ASURD ¢t | R LR 3 | ZHF—H 3 | TVRAY €3
i -~ < |56.0 .207| FF 56-56 |#&&0.1.0.4 | F=0001 |11 1238 3% 6A 9 1288 7E 4A 9 OFF 4% 3A 9  9EIEIA s |2 1688 2& 4N BRN
4 Rovavr—y B | PR 40000 | F50.0.0.1 | 444 12 /NEF4E 56 ®O® | 456 +2 EHAK 56  ©O | 454 +2 RESE 56 @BG | 452 +36 MRERSE 56 @R@ | 416 -2 @Kk 56 QB
(yoRYHYRITR) &F 217 EH0.0.0.1 [ FH0.1.0.1 | 1600m 4 B 1:47:8 44.8| 1200m & & 1:15:8 38.9 | 1700m & B 1:57:9 47.4 | 1500m 4 #§ 1:39:2 42.5 | 1700m 4 B 1:47.6 38.6
RAE IS [%1] 0.1.0.8 0.0.0.2 | £40.1.04 | - @ @-©@-|HSS 35.6-42.5 221 (10) | MMM 35.6-39.0 344 (9) | HMM 39.8 411 (9) | HSS 37.1-41.1 432 (9) | MMM 30.2-38.6 434 (2)
HARBIE 0.0.0.0 | 20510580 | £ 0004 |28 0003 | IAY-9 70-F(4.3) KEE | =/t 5(1.2) Sk [ 9 Ysb-+@.0) 355 | 1L7(1.6) SeESR | M L4-0.4) ESEE
7 FRA v L—2 3|17 % |®Z0001 |FME0001 |20.1005 11 & ﬁﬁl 20.08.30 38 & 33m6 | 20.07.05 41 F 2fa2 [20.03.14 43 ¥ 1dmb | 19.10.26 35 & 3%imb
aAz=F47 A JA0000 |F 0000 |C2=4 BF | | F
T4 54.0 229 40000 | F20000 |8 8@ 8% 3A x% 12 1788 6& A 6 168815%& 6A ks |10 18ETEINE 9N 7 4EENE 2N 4
5(5| a1l #v3545742 HE BEE 1296@) [ £470.0.0.1 | F750.0.0.0 | 459 +13 $iK+ 54 (@G| 446 -6 I8 54 @D | 452 -2 MK 54 (OO | 454 +4 LK 54 @D | 450 -8 FRH 54  O@
(R¥NnyBUhI ) SF 56| B 1296@ | A 0.0.0.0 | F£0.00.0 |1400m 4 B 1:29:6 40.9 | 1200m = £ 1:11.3 36.9 [ 1200m & T 1:10.6 36.4 | 1200m = # 1:11.9 34.9 | 1400m = F 1:24.5 38.4
% [%]] 00.1.8 | 20012 240001 | -® ---@-[MM 35.7-38.6 411 (8) [ MMS 33.8-36.5 433 (12) | MWW 33.7-35.4 443 (10) | SSM 35.7-35.0 224 (4) [ MMS 34.1-37.0 432 (10)
AT X 0.0.0.1 | #05£020i80 | £20.0.1.7 [ 18 0000 | ¥ 1p9594v2(2.9) Sk | 7949 7074(1.0)  FHRE | b V9 704)-(1.5) EZE | 92 9409(1.2)  Sesksk |7 Uaf-h(1.7)  H%EE
| FooNF /xR 3 212;& ©: . Wy] 0 | Fm0.1.0.0 | 20.09.27 17 F ] 20.0941_2 6 & T | 20.06.08 14 3 5]
o % i B 478-507 | 4 0.0.0.0 | F 0.0.00 | C # 2 | C 4 ©2 |3%c2= 2
E—RTUNIVT I |5’ 3| R sese | E50000 |F=1100 |2 78 4% 24 1 838 6% 1A 2 128 TE 1A
6|0 |75y ETA BE | NEE | ®W 12182 £41.2.0.0 [ F/50.0.0.0 | 478 -6 WA 54 @@ 484 23 UKD 54 @@ |507 LK 54 @@
(Yo RYHYRITR) EF . 264| 2H8 1278@ | HA0.0.0.0 | F0.0.0.0 | 1400m 4 4§ 1:27:8 37.8| 1200m & B 1:16:3 38.6 | 1200m 4 B 1:15:0 39.4
FREKE [%]] 1200 | 1.1.00 | 241200 | --@-®---|SSM 37.1-37.9 544 (2) [ HSS 37.6-38.7 534 (1) |HSS 35.5-30.1 533 (8)
| RB)IRF 1.2.0.0 | #05£3:0:80 [ £ 0.0.0.0 | 28 0000 | A9 1(0.0) bk W/t Y (<0.6) Sk | 7 nvhvyvy (0.4) ks
O—SXA x4 319 & O: . - 0.0.5.4 90167 |20.10.12 13 & ﬁm 20.09.27 12 ¥ ﬁrﬁ] 200914 15 3% mz] 20.09.05 13 % ﬁm 20.08.24 15 ¥ KR
ENSEA RATBE & 407-414 0.0.0.0 [F 0.0.0.0 ZE C 2 m#f C 2mff 3mC1— cl
K4 54.0 .127| fr 54-54 0.21.9 | ¥=0.00.1 [6 858 6F 4A 5 5E 1% 3A wﬁ; 3 %,W 5 1088 8% 4A 5\\ 6  0mE 2& 5N W
1|7|o|zno7v7a EY-A RS BE 12610 0.0.5.4 | F750.0.0.0 | 427 +8 [LAE 54 419 -5 #AKG 54  ©6) | 424 +4 RHEE 54 3| 420 -3 WIARR 54 423 +4 K#41B% 54 ©@O®
(ya7%) 0.1.3.3 | F£0.0.0.0 | 1400m 4 B 1:29:8 38.7 | 1400m 4 # 1:30:6 40.0 | 1400m & F 1:27:4 37.5| 1400m &# B 1:29:3 38.7 | 1300m & B 1:25:8 39.8
FIERSYE [%] 612 | ®-®-@5-©| MMS 36.4-39.6 235 (2) | SMS 37.1-39.0 343 (5) | SMH 36.9-36.9 433 (2) | SMM 36.8-38.7 254 (1) | HSM 37.6-39.9 244 (3)
FHEFE—ED 0.0 [smeg 00 12| #hzyk(1.4) S | MyahFT v(1.9) B | 5% (1.2) sk | 9T Ay (1.4) Bk | /471 (2.0) KR
EEFLE YN 7 [ 11 231 | F090.0.0.2520.10.11 9 & &R | 20.10.05 8 & &h@ | 20.09.27 9 < G&k@ | 20.09.21 7 < Gk | 20.09.14 11 =& ﬁl’l
Ty & 0.0 [F 0010 | C2mi c2 | c2mi 2 | c2m#A c2 | C2m#A 2 |C2=#
0 . 461 | F=0.2.2.21| 8 955 4% 8A 7 838 5% 8A 6 8E8BIA K4 |7T  mEIBEIA 4 |5 688 2& 6A Vq
8|8 STY—FyoER 2 | =5a B 12956) | £40.2.2.38 | F7K0.1.1.11| 469 +5 BAARH 50 464 +3 Bk 51 @@ | 461 -1 Brhik 51 @@ | 462 -4 Mchik 51 @D | 466 +2 Eehit 51 ©O
(TY FRY 4 =) EF 77| A 12950 | BA0.1.3.24 | FH£0.0.0.0 | 1400m 4 B 1:31:2 39.2 | 1400m & B 1:31:0 39.7 | 1400m & % 1:31:3 40.6 | 1400m & £ 1:32:8 41.4 | 1400m % 7 1:30:0 38.8
() @B L-yay [£]]07.692|%01.024| 24507692 | 026060 | SSH 37.9-38.1 233 (8) [ MiM 36.2-37.6 251 (6) | SMS 37.1-30.0 232 (6) | SHM 37.1-38.8 231 (7) | SMM 37.6-38.0 333 (5)
EKEI 0.0.0.6 | #1%4%280 | £20.0.0.0 |8 04445 2un ypaz-(2.4) k%% | 4255 40(5.0) SesiB | MyaghFaiv(2.6)  skSEsE | FAIN M 4(4.8)  wksESE [ 4747940 (1.9) Sk
BRI A — k1400miB % 5 R ($£33R9 : 2018, 10. 16~2020. 10. 15) BHTE P& 3 HRE
[ EHESR HERSK 1% 2% 3%F &N BE ExE % (&) 4 5 6 7 8
1 IfYUTISvva 93 16 8 16 53 0.172 0.258 3 (3#ME) 27 27 28 29 28 31 30 34
2 ALTz—HL 46 16 4 10 16 0.348 0.4% 0 _____
3 ALEFVNRL 4510 8 3 24 0.222 0. 400 7 ®® BRI
4 TS5V TYRR 33 8 7 2 16 0.242 0.455 o D@ KIF547 (534, 544) 7 PR
5  JSRIUH— 57 8 5 3 4 0. 140 0.228 0 ____ g&j%l“ Eggé §§§§ I
6 TIvsaAFK 56 8 3 6 39 0.143 0.196 <L *
1 FHOYRUIR 21 8 3 1 9 0.381 0.524 g @e0 BUAA (335,245) 1%
8 A=Z—Ea—X 31 7 5 316 0.226 037 o _____
[ 62 7 4 3 48 0.113 0.177 *
10 FLIASy— 47 7 4 2 34 0.149 0.234 %

BEEHT O, LEORERL. HEWH. BFEELE, IRTERBERTOHBREBELTT S,

FEN OO, EREZLET,

20205104188 22[ 5R C2m# 45T v FHR —H# 140m ¥—+ - &



